TGT Social Studies

Q 1). Recently, President Droupadi Murmu has renamed the Durbar Hall of Rashtrapati
Bhawan. What is the new name of the Durbar Hall?

(A) Kirti Mandap

(B) Prasad Mandap

(C) Ganatantra Mandap

(D) Gandhi Mandap

Correct Answer: (C)

Q 2). Recently, 4" Capacity Building Program for the Civil Servants of the Socialist Republic
of which country has commenced at NCGG, Mussoorie?

(A) Sri Lanka

(B) Mauritius

(C) Madagascar

(D) Seychelles

Correct Answer: (A)

Q 3). Recently, which of the following typhoons has pummeled Japan?

(A) Biparjoy

(B) Yagi

(C) Shanshan

(D) Mocha

Correct Answer: (C)

Q 4). Students identify the sub concepts from the generalization in which of the following
phases of concept mapping?

(A) Propositional Phase

(B) Application Phase

(C) Closure Phase

(D) Presentation of Abstraction

Correct Answer: (D)

Q 5). In which stage, children are able to think about things in terms of consistent physical
features?

(A) Sensory Motor

(B) Concrete Operational

(C) Pre-Operational

(D) Formal Operational

Correct Answer: (C)
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Q 6). Which of the following is not the main feature of RTE Act?

(A) Free Elementary Education for all children in age group 6-14 years in a neighbourhood
school.

(B) Completion of Elementary Education even after fourteen years of age.

(C) Private Tuitions by teachers is not prohibited.

(D) No child is denied admission due to lack of age certificate.

Correct Answer: (C)

Q 7). Harappa is situated in the present day

(A) Afghanistan

(B) India

(C) Pakistan

(D) Turkey

Correct Answer: (C)

Q 8). Which one of the following is the most fertile soil?

(A) Red soil

(B) Black soil

(C) Laterite soil

(D) Alluvial soil

Correct Answer: (D)

Q 9). Which of the following book is written by Jawahar Lal Nehru?

(A) Swaraj

(B) Discovery of India

(C) Constitution of India

(D) Independence

Correct Answer: (B)

Q 10). Which amongst the following are the saints of Maharashtra?

(A) Namdev, Ramanuja, Eknath and Shankara

(B) Namdev, Basavanna, Eknath and Tukaram

(C) Shankara Namdev, Eknath and Basavanna

(D) Janeshwar, Namdev, Eknath and Tukaram

Correct Answer: (D)

Q I1). India has research stations at Antarctica named

(A) Ganga and Yamuna

(B) Brahmaputra and Ganga

(C) Maitri and Dakshin Gangotri

(D) Narmada and Ganga

Correct Answer: (C)
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Q 12). Which of the following is NOT a feature of the Indian Constitution?

(A) It is a federal constitution.

(B) It is a parliamentary constitution.

(C) Itis a secular constitution.

(D) It is a unitary constitution.

Correct Answer: (D)

Q 13). Which of the following terms is used for plants which are at present part of natural
vegetation but have originally come to India from abroad?

(A) Indigenous plants

(B) Endemic species

(C) Endangered plants

(D) Exotic plants

Correct Answer: (D)

Q 14). Name the Marathi newspaper edited by Bal Gangadhar Tilak criticizing the British
rule.

(A) Kesari

(B) Lokmat

(C) Loksatta

(D) Divy Bhaskar

Correct Answer: (A)

Q 15). It is made up of rocks and minerals and covered by a thin layer of soil. It is an
irregular surface with various landforms such as mountains, plateaus, plains, valleys
known as which of the following?

(A) Atmosphere

(B) Lithosphere

(C) Hydrosphere

(D) Biosphere

Correct Answer: (B)

Q 16). India’s deposits are mainly found in the Amarkantak plateau, Maikal hills and
the plateau region of Bilaspur-Katni.

(A) bauxite

(B) iron ore

(C) steel

(D) manganese

Correct Answer: (A)
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Q 17). Which Indian freedom fighter was known as the "Lion of Punjab" and played a crucial
role in the Jallianwala Bagh massacre, becoming a symbol of resistance against British
imperialism?

(A) Bhagat Singh

(B) Lala Lajpat Rai

(C) Chandrashekhar Azad

(D) Subhas Chandra Bose

Correct Answer: (B)

Q 18). Who appoints the members of the Election Commission of India?

(A) Chief Justice

(B) Prime Minister

(C) President of India

(D) People

Correct Answer: (C)

Q 19). Here the question is consisting of two statements namely, Assertion (A) and Reason
(R). Study both the statements and select the appropriate answer accordingly.

Assertion (A): Land is a resource of utmost importance.

Reason (R): Land can be used for various purposes like agriculture and industry.

(A) If both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A).

(B) If both assertion (A) and reason (R) are true but reason (R) is not the correct explanation
of assertion (A).

(C) Assertion (A) is true but reason (R) is false.

(D) Both assertion (A) and reason (R) are false.

Correct Answer: (A)

Q 20). The southernmost point of the Indian mainland is located at:

(A) Kanyakumari

(B) Rameswaram

(C) Cape Comorin

(D) Thiruvananthapuram

Correct Answer: (A)
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